
, 

9. 
1T 

12. TCTR AAT ART TOTS fATDI f5 CATCT C51T (readymade shirt) GR I 

13. 
9 

i) 

2.4 efoara 8 

CETTTIT a*AT CaT T a, 9+9 =l, 1 5+5 =l ia9 D1 T 9. 

f rfa1 a, zf a' aDI 7 ER a+a =1 z*1 

9 9 



RTCA 5x=1, 7-1 RerfA 
Ix9 9 

9 

fPeR RTT9 TOR ATTUM (reciprocal)Tt OITTRAI(multiplicative inverse) 

-3x2 

-

i) axb=bxa =1, (UC8a b TFICOA 2DF I 

) (i)8 Cii) (iv) 
2.5 mt gat 

10+2 5 (ONIATT CII a, 10 TT TAI A ATTT T afoua 5 

IT? o iNIK 2 AITTAI AA 10+5 = 2 3 :I 



i1S, 10-4 -2 

U 4 5 qT fo!l ciai , 10*= 4 oifTait| g CRAE (AIRTI , AD 

iRRUE (RITE 10) CDI RA ( ;)1 RAE 

18 a+b = ax(ba ada)= ax (ATb#0) 

OO b-2.9 1+1=2 

yeis 2=4 I 7 4I A, R4 CrA 4 B TE TR; 4 DI 7* qT 
4 

3 

3 

BHIER 7 (a) 5+ -o 
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3 

b-2.10 

9 

(06 (b) 411 

(a)6 =3-3 )4511l-T 

14 

10 

14714, 102*2_i =1 (ASa aT eftarA TR TI CRTR) 

HTR 9 : -5**-21 
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2 
1 

b-2.11 

ritert2.2 

(a) 6 () (d) 1 

2. fa A1- 

A.(6) 6 i) 31 Gii) 51 (iv) 4 3-2 

B.i) 24*3 (Gi)7+15 (iii) 54 (iv) 4+3 (v) 4+7 

C. (i) 32 (v) 32 

3. a 

14 



6. 

2 A+B = 1 A - B = I, COE A U B ER1 TOI 
3 

(ii) A=B 3 Gin) 4=- (iv) 4-B- 

2.6 TR5 7RJTR 3 

(10) (1) 1000 (1000) (100) 10 100 

5 3.750 

4 6 
5 

4 
0 5 0 
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